Year 2
Week 3 Activities

Daily Lessons:
Lesson 1 — Maths
Lesson 2 — Reading Comprehension

Lesson 3 — Spelling, Punctuation and Grammar



Day 1 Lesson 1 (answers in back of booklet)
Array for Maths!

Wits two multiplication sentences for each of these arrays. The first one has been done for you

smj=i3
3mb=12

Writs twe division sentences for each of these arrays. Try using coloured pensils to group

the dots,
E:::::; ® & @ 209090000000
r:---: .:ﬂ e o @ 0000000000
15+ 5= 3
15+ 3=5
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Commutativity

The commutntive property of multiplicotion meons that when two numbers ore multipliad
together it dossn't matter which one comes first becouse the product will be the some Division
does not hove commutativity.

4:1:1: 1=3F=3F =
3=h5=58= 3=10=10 =
T =10 =10 = 11=3 =3 =

Fill in the missing numbers:

=2 =2=5 =3 =3=§
h=2= I=8 =

2= = ] = =
10%2=2x hxb=__ mb
= = = =

* = x =

Challenge: Rycn has 3 boxes with 5 cors in sach. His friend Som hos 5 boves with 3 cors in
sach. Who hes the mest cars?



eee -
200000 5+5t 0T 7
(L1 111
® & @
e & ® £E=6 5% f
e @ @
eeceee — £xy
o090 00
o000 009
o099 099® 0L =02 £x=9
(111171
o008 0 g < 0L 0T = E
L 1 1 1 1)
5% &
20000080 =8
()
aoexy |, @® | c.n N I DR O ILEN LT
IT=%=¢ i ®
@eee @008 (0@
[Raasdosd
P04 BB
uoRIT ATy uerBRI|ey WOIIPPY
P=30)34 1amsuy buvroys ucsiAIg Pnpoid | paepy fioasy sdnoig | pajoaday | si03004
mafi Jef suap @ suo ymaf By w)gEE 3 mEpdweg maf Jof wucp m sus ] By R MY Kejduo)
-_ﬂ—uﬂu—_—n_—u._-._—__._

uoisIng



D a y 1 Le s S 0 n 2 (answers in back of booklet)
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D a y 1 Le S S 0 n 3 (answers in back of booklet)
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D a y 2 Le s s 0 n 1 (answers in back of booklet)

Identifying Quarters,
Thirds and Halves

Write one of these fractions in each answer box:

11 1 3
3 & 2 &
1. What fraction of the 2. What fraction of the
anitmals are snakes? pizza has been eaten?
g ' =
§ p ;":E.L

. W
.-'-E-.' ] [j Ej‘

does Steve have left?
Sami's Bar [F:Hﬂt:ﬂ_]]
Steve's Bar [ICHOC

3. What fraction of the & What fraction of the length of the
pilZza 15 remaining? big pencil are the small pencils?
T —— S -
?Hi:% =D E—=>
B () (B> ()
5. What fraction of these applesare | 6. What froction of this shope =
curcled? shaded?
Jo
7. How much of his chocolate bar | 8. What fraction of his dod’s height

s Michael? -~
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D a y 2 Le s S 0 n 2 (answers in back of booklet)
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The Three Billy Goats Gruff Questions

1.

How many Billy Goats are there in the story?

Whao lived under the bridge?

F

Which Billy Goat Gruff went first?

3.

&, ‘What did the troll say when he could hear them comlng over the bridge?

What did the trall want to do with the goats?

b

6. ‘What did the kiggest goat do to the trall?
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Day 2 Lesson 3 ... sacorsoonen
Correct the Sentence Punctuation

Write the correct sentence undernsath by adding in sapitel letters, full stops and
quastion marks.

1. my brother's dog is called tess

2. onsunday she went to the park

3. the titanic sank in 1912

4. toby and mark are going to spain in march

5. martha took her children to the zoo yesterday

6. when i go to the shop i will get some crisps

7. sameera and i are going to town on friday

8. did you sell buns at the fair

9. my mum has a cat he s called tom

10. have you got a dress for the prom




D a y 3 Le s s 0 n 1 (answers in back of booklet)

Recognising Equivalence between
1and2
2 4

1. Find % and %nf each of these shapes. What do you notice?

1 2 E }
L.
i [T1 ) 2 JTL
2 A
b.
1 _ 2
2 A
.
1 = 2
2 &
d.
1 = 2
2 A




of each of these shapes. What do you notice?

1 2
zundi,

2. Find

~I

] ] ] ]
|~ |t |t e |t
Q0 O 000 QOO0 O
o0 O OO 00O O
o0 O ONONS OO0 O
OO0 O QOO0 00O O
] ] ] I
Q0 O OO0 00 O
00 O 00 00 O
o0 O C OO0 OO0 O
00 0O ONON®] Qo0 O
e 5

Il il il I

i

3. Use what you have learned to ﬁnd% and %ﬂfﬂ’lﬂﬁﬂ numbers.

1 2 _
1 2
E= 1':]' 1{] _!=
1 — _.2 _—
5= 14 14 :




D a y 3 Le S S 0 n 2 (answers in back of booklet)

Easter !

What Is Easter?
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Questions

1. On which day do people visit church to celebrate Jesus rising from the
dead? Tick one.

Easter Sunday D Easter Monday D Good Friday D

2. The record for the world's tallest Easter egg is over... Tick one.

1000m |:| 100m |:| 10m |:|

3. Why do people visit church on Easter Sunday?

4. Find and copy one word which means well-liked.

5. Lots of people exchange boiled eggs at Easter time. Tick one.
True [ False [
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Day 3 Lesson 3 ... sucorsoonen
Correct the Sentence Punctuation

Writs tha sorrect sentance undernsath by adding in sapital letters, full stops, gues-
tlon marks and invertsd commas.

1. one warm, sunny day jessica and lilly went to the zoo when they arrived,
they visited the monkeys

2. ilike the zoo, said jessica lilly locked up and saw a monkey had stolen her
lunchbox

3. do we have any meney to buy more food asked jessica

4. lilly replied no now we dont have anything for lunch

5. dont worry girls, a voice called from behind them it was the zookeeper, who
was holding thewr lunchbox, with a bug smule on hus face




D a y 4 Le s s 0 n 1 (answers in back of booklet)
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D a y 4 Le s S 0 n 2 (answers in back of booklet)
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Day 4 Lesson 3 ... sacorsooen
Using Different Types of Conjunction

Lk To resogmion o, woee differond: types of conpenciions,

Choose the correct type of conjunction from the box to complete these sentonces

Coordinating Conjuncticns
ond bat ar 50

Swhordinating Conjunctions
plthowgh  becouss 20 thet evan if wihanaver befare e 1l

L 2 \ 3 ‘h"I.I:ILl.g|'I. ¥
Correlative Comjunctions

wshether for githarfor both,fmnd not onlyhut
Questions

1. Twentto bed vary late T.oen tired todogy

2. iy dod hos fised my bike 1 con tobs it to the park.

3. ‘W are having posin curry for dinner

4. 1 listemed to the weathar forecost put an umbrelln in my bog

5. Twill obwoys support my local teem, thay alwoys lose!

&. The wanther is forecost to be hot humad.

7. My brothar is grumpy kg lhas got to do his homework.

B. Ha goes abrood on koliday, hie doesm'® ke flyimg.

T. My mum is o brilliant doctor, sha is @ grent runner too.
10. 1 enjoy ploging hockay it's mot my fowourite sport
11. %e could goto the pork to the clmeno

12 T'mnot sure I'm gaing to the matck not.




D a y 5 Le S S O n 1 (answers in back of booklet)

Fruit Shopping

N
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D a y 5 Le S S 0 n 2 (answers in back of booklet)

sdota aow yuod o
fsuow ybnous sapy siswun] sums sayow spouzny
usmop pup dn ob ssoud saffon suoeq seffon

#owd Jmof v Jof pos
2UD SUDAG DOJCT NS SYDL IPTULIIDY BID)030YD

TR 30U NG FPTIT
asp sdoys Jsno U sououng ay; Jo swos :Sounuog

IPTIIIEY 5] 31 SUBA 3]
uo joquifis s1y3 Y sanpaad Jof Jno yooq
Wy njasr)

“SAFys0M 23 03
piod uaaq soy 201d Jsof o mouy nof ‘sponpoud 2say; Jo auo fing
noh Ji ‘ing 03 ajqopoan s39npoud apoIITDY 000’9 S3A0 24D 3uaY L

Spmnpo.d Ipu.nITny

uoah uagfo sosh umoib 3q o3 sdoso smoo

0S]0 31 "]00Y9s 03 0b UDD UAIPJIYD PUD ]2M PaIDaI] 4D SIFYIOM OS
suoIpuco Burpiom Ja33aq 2D 243Yy3 auns ssyow 31 sdouo Jof prod
2D 5201d J233q 2ms 2yDW 03 sdj3y FpruIg

idjaH apo.gI4 S30q MOH

$3L3UN03 OZT 43A0

fing am sbunyy

sof @oud s v buifind puo uof plrom ay3

Suryow noqo = apoagaDy “Bunge) pup poaf

Jof hauow ybnouas aaoy jou Jpm Rayg ‘szonposd nay3 aof soud
aof o prod asp Aay; ssajun YanamoH sdoys Ul pjos pup pHom
ay3 Jo spiod Jayz0 03 paddrys aup s3onpoud pup poof n1ay) jas 03
sburyz Bunyow Jo poof buimosb fig Buia s1ay3 wioe ajdoad awog
LUD3jy SpD.gIDg s3oq oYM

apn.I3ID



Fairtrnde Reading Comprohgnsion

Questions
1. What can people not afford if they are not paid a faur price. Tick two.
o toys

©  food
O clothes

2. Fairtrode products are available tn over how many counties? Tick one.

O 150
O 120
0 350

3. If Fairtrade prices are paid, what happens year after year?

& Find and copy one word thot means purchase

5. All banonas sold in the United Kingdom are Fairtrode. Tick one.

3 True
) Fase
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Day 1 Lesson 1 Answers

Array for Maths! Answers
Wirits twe multiplication sentences for sach of these arrays. Tha first ons has besn dons for you

* e @0 (NN N NN
[ N N M N
* & @& @ [N N N N N ]
L N N B NN
o ® & @ [ N N N N N ]
Led=i2 4= 5 =10 dré=18
Ied=1i2 Smi=10 grmi=18
S0 E SOOI EEN
11 X110
SO0 OE SOOI EEN
1111170
S0P E SOOI EEN
3= 10 = 30 §%3 =20 Twd=1h
10 % 3 = 30 358 =20 InT=14
Wirite bwo division sentences for each of these arrays. Try using coloured pencils to group
the dots.
P
(@ o (o (fel ol foD ; ; sele
[
MCINCIRCINCINCIN p
dollefleflelle) | “&—&& [
|
L = = = o
15+5=13 6s1=3 20+ 2 =10
15+3=5 G+3=2 20+ 10=12
e = Hn.
seeee | GeEE) | SISy
CICHCINC NC I b 4 (@ e e e ®)
LICIEC Y (je/[e]elee]
CINCINCNCACICIN (eo/le|le/le)h flelleele/®]
e — e 3 o
[ )
QICICICIO
12:6=2 12+6=3 Ee5=5
12+2 =4 11+3 =4

Commutativity Answers

together it doesn't motter which one comes first becouse the product will ba the some. Division

does not hove commutativity.

Lx2=2xk

3x5=5%3

TrlD=10=T7

1=3=3=1

3=10=10=3

11=3=3=11

Fill in the missing numbers:

Ex2=2x5 8x3=3x8
5x2=10 3x28=24
2%5=10 8x3=24
1W0=2=2x10 bxb=6Gxh
2 %10 =20 hxo=24
10 % 2 = 20 6 x b =24

Challznge: Ryen has 3 boxes with 5 cers in sach. His frisnd Sam hos 5 baxes with 3 cars in

ench. Whe hos the most cors?

In5=15

Multiplication Answers
Complete the tabls, The first ona is dens for you

Factors | Repeated Groups Array Related | Product
Addition Lalculation
(commutative
D)
e & @

Ix2 24243 @I:I-] e o @ 23 b
[II]171) L 11 1]

2xs | 5o eeeee | 72 | 10
F LTI T I T T

3% 10 |10-10+10 I.'= :::::::::: 10 %3 30
eoocce

[ ] b+ TYITI1] 2=6 12

(XX eese
3 [323234+3 ::: ERP 12
(fl"]' oee

8988 | o0l

EE 5+5+5 [IIII} L 11 1] 6e3 15
(IIIT) 299099
LTI T T T

210 10 « 10 ssssssesns | 10=2 20

§5=3=15 Thay both hove the some number of cars.




Division Answers

Complate the toble. The first one is done for you

Division Sharing Answer Related
Multiplication
Focts
a3 (ITITTORCITII . 3x4=12
. XTI b x3=12
. I ITD hr=2=8
82 A seh-g
g 5x2=10
105 m 2 2+5=10
(XX
20:10 | GERERER S 2 ;‘:3:;3
(Y]
I
CYTITIT) o
12 = 2 . & Gr2=12
(ITITITN 2ef=12
(® & @)
9:3 (@ & @) 3 3=3=9
(e ® @)
(TY (ITT) B
15 : 5 200808 3 5*3 =15
(Y X 3x5=15

Day 1 Lesson 2 Answers

Questions about Goldilocks and the Three Bears

Answors

1. What did Goldilocks find during hor wlk?
On a walk one day, Goldilocks found a house,

2. What thd Goldilocks say about th large bowl of porridge?
She said, “This porridge Is too saktyl™

3 What did Goldilocks say about Baby Roa s porridge?
She said, “This is porridge is just right.”

A What thd Goldilocks say about Daddy Bear's and Mummy Bear's char s?
She said they were too big.

5 Where did GokNocks go after she broke Raby Boar's chair?
Goldilocks was very tired, so she went upstairs to the bedroom,

6. What did Goldilocks say about Mummy Bear's bod?
*This bed is too soft!™ she sald.

7. Do you think Goldeocks found Baby Bear's bed comiy? Why?
Yes, because she sald, “This bed is just right,” and she fell asloop.

8 What did Daby bear say when he found out someont hisd broken his chair?
“Someone's been sitting in my chair and it's broken!” cried Baby Bear.

9. Whare did The Three Bears tind Goldilocks?
They found her in Baby Bear's bed.



Day 1 Lesson 3 Answers

Common Nouns Answers
Learning Outcome: To identify common nouns

Task; Write the name of the noun underneath each picture

Collective Nouns Answers

Learning Outcome: To (dentify collective nouns
Task: Put the names of the objects, people and animals by the

correct collective noun

snowman car Ice cream 099
bag ball burger bike
fish cow pen sheep

bees sheep cards singers

e | 5% | K% | skate

B | m——

" ’-! ..;- -

fish monkeys cows kittens

T
BRE | |

N
l..lge

7| 8
@ |Gb| | &

Now write some sentences using some of the nouns

A lieter of kittens
A herd of (o

A choir of singers,
A tribe of keys,
A flock of sheep,
A swarm af beas,
A deck of co

A shoal of ful

Can you think of any more collective nouns? Write them here,

Day 2 Lesson 1 Answers

Identifying Quarters, Thirds and Halves

1.% 3.% 5& ?.%

1 1 i 1
2. 4 #.I 6.3 E.z

Finding Simple Fractions of Numbers

1. 2.

g lwhola=12 | 2=8 l=3 a 1 whole = 28 t=14 | £=7

b. iwhola= st | $=2 1e1 b 1 whole = 32 t=186 | t=8

e lwhola=16 | 3-8 | 1=4 & 1 whale = 24 =12 | i=¢

d lwhole=20| $=120 | $=5 d 1 whale = &0 1=20 | f-10
e 1 whale = 100 v=50 | t=25




Day 2 Lesson 2 Answers

The Three Billy Goats Gruff Questions

1 dow mardy Hiky) Gosli e e r IRa glan?
Thera are three Billy Gosts Goali

F Who lived under The bidgs?
A errible, grampy irsll lived usder the brsige

Which Wiy Goal Gealt wanl hirgl?
Thi amialla st Dilly Gaal Gruff wen g

4. ‘Whal dhd thie trall say when he codd bear them coming over the bindgs ?
W B IFip brapping sver sy bridge T grewied the trall

5 'Whal o thes froll mank 1o &0 8% the goals T

He wanbed bo #ak them up.

L Whal ohd 1hie Bigges | goat da 19 1he frod
Tha higges! goat shetad sl Fe buttad him off the bridge

Answers

1. Number these instructions from 1 to 3 to show the

order they must happen in.

e

3 Pour the mixture into a glass.
1 Chop up the ingredients into little pieces.

2 Stir them together with a wooden spoon.

2. Which two adjectives has the author used which

mean the same as ‘small’'?

tiny and little

3. Do you think that someone could get all of these
ingredients? Why?
__ Accept ‘no’, with any sensible justification
: linked to the fact that many of them do not
] ' exist, e.g. No - because snakes do not have

eycbrows so you would not be able to get them.

4. How many chicken's toenails do you need for the

&
\"

recipe?
twenty



Day 2 Lesson 3 Answers

f_%

gusoud 2y sof ssaup o job nofi anoy

wioud zyy sof ssup o Jab

noh avmy gE

USD] PAJUD 51 3H FU2 0 S0 wmn iy

‘wsay payjoe = &y 300 © soy wnaw fuw g

i mp o oy jps nofi pig

A0 M 30 BN |

1._.._.5_11._._..._.5

‘fopLy wo wweg 0f Burol aum | pun DEeang

fiopuuf ue wwog og Gupab am 1 pun wuzews p

‘s swes 326 i ] doys ;g og of [ umyy

sdso susas 326 w1 days ayy og ob 1 uayw g

Fiopuagahi coz ap o3 wasppyE Sy oo} TpaoH

PRI LY. Ry 1) ASRAFLE i) RO TRE G SE

pungy w urndg o Buteh am gumyy pu figey

youma wy ureds o Burob s guow pun figog -4

“ThEL U U Tl 3y

ZL6L 1 Juos

TN B CE

“god ;g o3 Jumes 2ys Aopung ug

A g

Fopuns wa -z

=53] papoa =1 Bop s ssygoag Ay

£=2 pa|Toe 8 Gop waayzaiq fw g

s

uogsan

SIaMsUy UOIIDNIOUNY 39UaUaS 3y} 3934407

Day 3 Lesson 1 Answers

Recognising Equivalence between % and E
in sach cass

Ty -
™ 1 '
’ Ca F
e o] —i —i
T T T
rdfd R rapET
] =
. 4o
o a2 3
T T B
e | ey
o 0 W]
£ (1]
r4 [ 1] [ 1]
' ] &0
-5 - -
T ¥ F
Cufd et Sdpd
sl
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Day 3 Lesson 2 Answers

Answers

1. Onwhich doy do people visit church to celebrate Jesus rising from the
dead? Tick one.

Eoster Sundoy Easter Monday |:| Good Fridoy |:|

2. The record for the world's tallest Enster egg 1= over... Tick one.

1000m D 100m |:| 10m |Z|

3. Why do people visit church on Easter Sundoy?
Paople visit church on Enster Sunday to remember Jesus rising from
the dead.

& Find and copy one word which means well-liked.
popular

5. Lots of people exchange boiled eggs at Easter time. Tick ona.

True |:| Fals=

Answers
- I_:'., 1. What were the names of the two sisters?
i
“." Eva and Ruth

2. Which two adjectives has the author used to
describe Eva's bucket?

round and orange

4

3. What is the 'special event’ that Eva had saved
her stripy tights for?
Eva had saved her tights all year to go trick

or treating dressed as a witch on Halloween.

4. Who do you think is at the door?
Accept any sensible prediction linked to
the text, e.g. I think that other children
who are trick or treating knocked

on their door for some sweets.




Day 3 Lesson 3 Answers

Correct the Sentence Punctuation Answers

CQuestion Ancweer

monkays

1. one worm sunny doy jessica and lilly went to the zoo when thay armved they visited the

2. i like the zoo soid jessica lilly looked up and sew o monkay hod stolen her lunchbax

her lunchboo!

‘I like the zon," snid Jessica. Lilly locked up ond smer o monkey hod stolen

3. do wa have ony manay to buy mone food osbed jessica

‘Do we hove any money to buy more food? ashed Tessico,

Lilly replied "Ma! Mow we don't howe angthing for Lench?

thair lunchhax with o big smile on his foce

5. dont worry girls o voice called from behind them it wos the zookseper who wos holding

'Dan’t worry girls,' @ voice colled from behind them. It was the zookeeper,
who was holding their lunchbox, with a big smile on his foce.

Day 4 Lesson 1 Answers

Turn up the Heat Answers

Write the temperature shown on each thermometer.

o - b'f :'('-
. AN A
er ko g~
LS AN A"

Which thermometer shows the hottest temperature? b
Which shows the coldest temperature? g

Comparing Capacities Answers

ml = millilitrez L = litres
S500ml iL
K.-_Ei__,-q] C »
_m | | I.TI '1?'
| | — |
\__/ ./
1000 300ml 100

Write the names of the objects in order from largest to smallest capacity.

largest bath
bucket
Juice carton
Jug
drinks con

smallest teacup

Challenge: Where on the line would you put a swimming pool? Where would
you put an eggcup? Where would you put o cereal bowd?
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Day 4 Lesson 2 Answers

Answers

Answers
1. Tick twa subjects thar British Science Week celebrates? :_"_ i@ 1. Number these events from 1 to 3 to show the order
@ science > they happened in.
@ technology
O history 3 John fell over.
1 Alison asked John for some pins.
2. What is the theme for British Science Week 20207 Tick one. 2 John said no to Alison.
) science
@ our diverse planet 2. Which word in the text means that something
© people and places costs a lot of money?
| "
3. When does British Science Week 2020 end? Tick one. expenstve
@ 15"March 3. Why might people have thought that Alison was a
O 20 March i witch?
O &% March 1 )
' Accept any sensible justification linked to
&. Which animal protects its eyes with thick eyeloshes? the fact that John fell over straight after
Camels have thick eyelashes to protect their eyes from sand. saying no to her, e.g. People might think that
Alison was a witch because John was poorly
5. How do a tiger's stripes help it to hunt for prey? straight away after not giving her the pins.
A tiger's stripes help it to hunt for prey by blending into the jungle . 4. Where did the events in the text happen?
leaves around it. S

Lancaster

Day 4 Lesson 3 Answers
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Day 5 Lesson 2 Answers

Fairtrade Roading Comprohonsion

Answers

. What can people not afford if they are not paid a fair price. Tick two

O toys

@ food
@ clothes

. Fairtrade products are available in over how many counties? Tick one

o150
@ 120
o 350

. If Fairtrade prices are paid, what happens year after year?

If Fairtrade prices are paid, crops can be regrown year after year.

. Find and copy one word that means purchase.

buy

. All bananas sold in the United Kingdom are Fairtrade. Tick one.

0 True
@ False

Day 5 Lesson 3 Answers
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